Long Division

Riddle
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Directions: Solve the division problems. Use your answer and the given chart to decode the joke Show your work i '
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What do you call a blind dinosaur?
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LONG RIVISIOMN "

Directions: Solve the division problems. Use your answer and the given chart to decode the joke. Show your work!

B~ What do you call a blind dinosaur?
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1)132 + U4 2)73+ 3 3)u52 = 4
Letter: Letter: Letter:
4)272 = 6 5)86 + 5
Letter: Letter:
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6)195 = 4 7)551 - 3 8)yy -9
Letter: Letter: Letter:
q) 215+ Y4 10) 164 = 3
Letter: Letter:
11)u52 - 8 12)103 = 7 13)328 - 2
Letter: Letter: Letter:
4)82 -+ 3 15) 148 =~ 9
Letter: Letter:
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Directions: Solve the division problems. Use your answer and the given chart to decode the joke. Show your work!

l\'{“ What do you cdll a blind dinosaur?
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33 24 R1 13
4 | 132 3[73 4 |452
-12| 6| 4)
12 13 05
0 1 12
-12
Letter: Letter: 0 Letter:
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4) 272 + 6 = 45 R2 5)86+ 5=17 Rl
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Letter: Letter:
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6)195 = 4 =48 R3

7) 551 + 3 =183 R2

)Y =-9=
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Letter: 2 Letter: Letter:
0 I K
q) 215 + U = 53 R3 10) 164 + 3 = 54 R2
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Letter: Letter:
U E
11) 452 = 8 = 56 RY 12)103 = 7 = 14 RS 13) 328 = 2 = 164
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Letter: Letter: 0 Letter:
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Letter: Letter:
R A




